

Quote For:

Webb County Sheriff's Department
Attn: Joe Gutierrez

Reference:

Webb Co So (TX) 18 4RE_V300 BUNDLES_BuyBoard 648-21

Quote By:

WatchGuard Video / Motorola Solutions
Michelle Oleari

Date: 04-14-22

Serving Law Enforcement with the Most Compelling, Quality Video Products

Motorola Solutions

415 E. Exchange Allen, TX 75002 (P) 800-605-6734 (F) 212-383-9661



Prepared For:

Webb County Sheriff's Department - Attention: Joe Gutierrez Webb Co So (TX) 18 4RE_V300 BUNDLES_BuyBoard 648-21

QUOTATION - WMO-1215-02

DATE: 04-14-22

4RE (V300 Integration Ready), Standard DVR with HD Panoramic Front Camera, Cabin Camera, V300 WiFi Base and Smart PoE Switch.V300 sold separately. IV-BND-V3-PX-10 4RE/V300 Bundle	18	\$4,755.00	\$85,590.00
IV-BND-V3-PX-10			
4RE/V300 Bundle			
Standard DVR Camera System			
HD Panoramic Front Camera			
Touch Screen Display			
Integrated 200GB automotive grade hard drive			
32GB USB removable thumb drive			
Rear facing cabin camera			
Internal GPS			
1 Yr Hardware Warranty			
Cabling and your choice of mounting bracket.			
V300 WiFi Base			
Smart PoE Switch			
4RE Firmware			
Record-After-the-Fact® (RATF) technology			
Multiple Resolution Encoding			
H.264 High Profile Video Compression			

MikroTik Configured Wireless Kit, 802.11n, Drill Mount *Must purchase Smart PoE	18	\$200.00	\$3,600.00
IV-ACK-WF-CDM			
MikroTik Configured Wireless Kit, 4RE In-Car 802.11n			
Radio, Antenna			
Drill Mount			
Warranty, 4RE, In-Car, 1st Year (Months 1-12)	18	\$0.00	\$0.00
WGW00124			
Shipping - BWC Unit	18	\$15.00	\$270.00
FRT-BWC-01			
Freight delivery for each Body Worn Camera Unit			
Shipping - ICV Unit	18	\$25.00	\$450.00
FRT-ICV-01			
Freight delivery for each In Car Video Unit			
Warranty, 4RE, In-Car, 2nd Year (Months 13-24)	18	\$100.00	\$1,800.00
WGW00125			
Warranty, 4RE, In-Car, 3rd Year (Months 25-36)	18	\$200.00	\$3,600.00
WGW00126			
Warranty, V300 3 Year, No-Fault	18	\$450.00	\$8,100.00
WGW00300-003			
Total Price			\$121.320.00

Notes:

- 1. This Quote is valid for 90 days from the Quote Date. Pricing may change thereafter.
- 2. Any sales transaction resulting from this Quote is based on and subject to the applicable Motorola's Standard Terms and Conditions, notwithstanding terms and conditions on purchase orders or other Customer ordering documents.
- 3. Motorola's Standard Terms and Conditions are found at www.motorolasolutions.com/product-terms.
- 4. Payment Terms: Equipment-Net 30 days upon shipment; Installation-Net 30 days upon completion; Services and Subscription Agreements-Net 30 days from receipt of Order.

- 5. The pricing in this Quote does not include any applicable taxes (e.g. sales/use tax).
- 6. UNLESS OTHERWISE NOTED IN THIS QUOTE / ORDER, INSTALLATION OF EQUIPMENT IS NOT INCLUDED

Quoted by:

Michelle Oleari - Customer Engagement Representative - 469-342-8917 - michelle.oleari@motorolasolutions.com